21MAT21

;:Tlme 3 hrs.

Note: Answer any FIVE full questiops,

§ : odule-1

'_g ’ 5 © c. b a » & o RS
s 2 1 a. Evaluate '[ J J.(x +y+ z)dggd’ydz. “ (06 Marks)

'8 —-c-b -a .

§ 1Jx ‘ S '

2 b. Evaluate j j xydydx. by changmg the order of'i mtcgmtlon (07 Marks)

= 0 x v ’ i

= c. function. (07 Marks)

I

22 a Evaluatm j j ey )dxdy by changmg into polar coordmates (06 Marks) -

b. Find the area between the p bblas y* =4dax and X %= 4ay by using dou:ble, mtegratlon
' ' e ° (07 Marks)

[(m)
[I(m+n)

c. Show tﬁat B(m,n) = (07 Marks)

3 a l)along 21—3 2k.
(06 Marks)
b. (07 Marks)
4 a If -lgzxy% yz‘
=¢, -1 <t<1 4 - . (06Marks) -
b. Usmg Green’s theorem, evaluate J.(xy+ y*)dx + x2dy, where ‘¢’ is bounded by y=x and . . - -
. Sy e .
y=x. » " | (07 Marks)

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

" the rectangle bounded by the linesx =ta,y=0and y=b. o ; (07 Marks)
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= P Module-3 < e ;,

Form a partial differential equation by eliminating atbitrary function from

7 =f(x +at) + g(x —at). (06 Marks)
R A ” e

=sin x‘siny for which L2 —2siny“when x = 0 and z = 0 when y is an odd
. ’ A ’

Sdlve

(07 Marks)

multiple of g

Derive one dimensional heat equation (07 Marks)

OR & R b
Form a partial dlfferemt‘lal equation by eliminating arbitrary ~ constant from

Z=(x-a)y+(y- b)’ (06 Marks)

Solve (y—z)p+( (07 Marks)
A, A P 02 b

Solve — =2 gi%n that wheny=0,z=¢"and—=¢". - (07 Marks)
oy 4« 4’ Wy " Oy : .4

Sl
AT

The a Lé ofa 01rcle (A) correspondmg to diameter (D) is..

L

A | 5026|5674 636 '7088 7854

Find the area correspondmg to diameter 1()5 sing an appropriate 1nterpolat10n formula

4 . (06 Marks)

Find a real root-of X’ —2x-5=0 usmg Regula-Falsi methoc?’ correct to 3 declmal places

whose root lies betWeen 2 and 2.5. , " (07 Marks)
/2 4" A o

Evaluate:.. § - (07 Marks)

Use NewtonﬁRaphson method to ﬁn
_the iterations upto 4 decimal places.

d a real root of Xsin X + éqé x= 0 ‘i‘n_ca(.'r x= ]
Use Lagrange s mterpol{ “oﬁifomula.to find y when x = 35 to the félldWiﬂg'éat

(7 Marks) -
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(07 Marks)"'

w1th h - 0. 1

Apply Mlme s predlctor-corrector mei:lﬁgédﬁ to find y(l 4) from %Y_ X +—yz— gl.VeD. thaffl

y(H)=2,y(0. 1)=22156,y(1.2) (07 Marks)

—lh OOSatx 01
(06 Marks)

= x> +y* with y(0) = 1. (07 Marks)

ot

e~Kutta method of 4™ order, ﬁnd “y(O 1) given that -jl = 3x+—2— y(O) 1 with

- Use Rung

(07 Marks)




